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 
2704














 4





Visual Ground Aid-Day

Making
And Night –Aids



1Runway
Taxiway


Marking










Airfield Area)


Threshold
Runway


Center

line of Runway








2Day Makings


1 : Runway Center line


2Runway Edges
3Runway Threshold
4 : Displace Threshold




5(Numbering) Runway designation









5

6sidestripRunway
7Runways touch down zoneorLanding Area


8Runway fixed distance

Taxiway
Taxiway function


10Taxiway longitudinal

Taxiway
11Taxiway Holding Position

Taxiway
Runway

12Obstruction marking


13Aerodrome Identification sign


14Signal Area
15Landing direction indicator




16: Wind direction Indicator








(class)
RunwayTaxiway

3MarkingdayRunway
Runway






(Threshold)
Runway(Displaced

Threshold)



Control Tower



Runway 1
23………
5

-Runway center line
Broken

line1Runway
-Runway Touch down (Landing zone)

distancefixedRunway

4ingMarkDayTaxiway
Taxiway

Runway
Taxiway

(Not broken line)15






I..C.A.O

(International Civil Aviation Organization)

Ta
xi

wa
y Center line marking

continue
(Yellow color)

1
5c
m





 6

Runway
Taxiway

5Shoulder
Runway + Taxiway



6Wind

IndicatorDirection
wind

cone)(cone)


(ICAO)




30
(wind cone)

4
1

7
DirectionLandingIndicator

(T)




flangeT
3.60(stem)(Rib)12

40


dsAiNight


Marking
Lighting








1. Airport Beacon 
2. Approach Lighting system
3. Boundary Lights
4. Landing Area Flood – Lighting
5. Runway Lighting
6. Taxiway Lighting
7. Apron Lighting
8. Illuminated wind Direction Indicator
9. Illuminated Landing Direction Indicator

1Airport

Beacon
(Beam)


180





5

6





2
Beacon

(green signal)
2roach Lighting systemApp












7






(Runway)4560
34


240

x\23
4560

9001200
(End of Runway)








(glide path) or (slide path)




3


candle power
200000



3LightsBoundary


 (landing Area)


6090





















4LightingFloodAreaLanding


(Runwy)
6076

Runway

Source
of light

6076

System of flood –lighting the Runway by using controlled
beam liner source

Runway



6090

12






Green Threshold
Lights

Red, Pre
Threshold
wing bar

3
 Runwa

y
Bound
ary

Lights





 8

Taxiway
C.L.


5practiceCurrent–lightingRunway

Narrow Gauge Pattern

Runway LightingThreshold60
Runway C.L

9C.L18


3
1140Runway

6lightingTaxiway
Taxiway

Runway


(medium intensity)30-45 watt
60


Taxiway


6015

Taxiway
Taxiwayblue

Taxiway
33
.C.LTaxiway





67




33.60
(10 watt)

7ngi LightApron






(Half foot candle)

(flood –lit)
4


12pavement)1.20


8IndicatorDirectionWindIlluminated
 (Wind cone)





9IndicatorDirectionLandingIlluminated

Landing Direction Indicator


 (T)




(Lighting)


  






9










































 10








































 

1SiO2


























1









11











2 Na2So4+C2Na2So3 +Co2




43


58









559
22

15
53








2


















3










Na2B4O7. 10H2O























 12










































 
1




2



3


4

1400


5
















6




7
 


1

418










13


2











2
90





























1400












Na2O.3CaO.6SiO2

SiO2



Na2SiO2



SiO2+Na2Co3Na2SiO3+Co2






SiO2+CaCo3CaSiO3 +Co2





 14
















 































 

1
2




 
1


2

3










1
2
3
4


5
6
7











15


















…





1977






15




Occupational safety























 
 


























qualified

person








 16



Partition

































Occupational Knowledge



Machinery

installation















work piece)


adjustmentMachinery
2Machinery

Controls





1





2



(START






17




Recession type
3



(STOP









4Emergency

Button






5Machinery

Guards
 

























Services

Installation


(Electrical equipment and
apparatus



















Maintenance












 18



















consumables








Shield





1






Combustible Surfaces














3



1


2

3


4


5

Radiators
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









 20













10








10














986











  
 






21









Nature Soil





Over Stress




Sub Grade


Pavement
Sub Base




Base


surface
Surface


Pavement


Concrete Pavement























 22


 

 Causes of Pavement Failure


Failure







Failure

1Humane Mistakes
Soil Testing & Analysing








2Over Stress




Over Stress
Failure

Sub grade Failure-




Base Failure








Surface Failure





.3Strain



Strain


.4Pavment Mixture Bond







 Using the Same Desgin for Evry Pavement.5











.6Rigidity of Soil












23


Regression


Settlement
Subgrade




Flexiblity & Elasticity


Over Stress
Failure of

Pavment



Moisture Content







Rigidity of Soil




Rigidity of Soil
Rigidity of

Soil




Lateral Movement



Freezing










Rigidity of Soil & Flexiblity



Deeps of Pavement Layers















 24


Failure




#








@






$ Tanjent Pressure











Stress





Stress


%130




















Type of Pavement Deep's

Design











1-







2-










25









3




Stress,StrainStress
Subgrade




3-



StressStrain



GE = 0.0032T.I100 – R

GE: Thickness of Materials in Terms of Gravel
Equivalentby ft 0.119

T.I : Traffic Index = 9.0 [EAL / 1000000]

EAL : Equivalent Axle Load = 18000 Ibor18 kip

R : Resistans Value at Exudation Pressure = 300 psi






Pavement Types
Rigid Pavement-


Tension

Stresses






Over Stress


Flexible Pavement-


Tension Stress


Flexiblity

Tension Stress



Flexiblity










Soil Mechanics for Rood EngineerH.M.S.OLondon










 26





















































1944





1956–1959–1962


1967


























27















ABB










2003

UNDP


























  


















 



 



 





 

  





 28












































1






2




 






29




350.000$


8


1020003



4003


4003




860
3






















4



50








5











6








 30
















10.0003










15



7

















8


2200





























31



















































2751981







 32




























































































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



















































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15

0






0





 36





1


8–12140–170

45–60
50–802

2
10–307–

111–43–
6240–902





{Break Down Comp.}





3

50–150





500–1500






1–2

10–152
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












 







Workability



130–160












39

Harsh Mix 
Tender Mix 







15–20



















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














2,5


















 







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{Static}{Dynamic}


























2000
30000,400,80




2,530













 42




2000
30000,400,80





65


2,51010

3,51
510

10





36












 














43







 








 


10–20


 





45


24



 










34






 44


 





2





1
2
32



M2/hr
n

BxVx100A = c x


A2
c

B
V
n





150105


210
35
415

0,66









45


2,33














 

50–125 100200 1,40 6
75175 150–300 1,68 10

100–225 200400 2,13 14







 














2



















 46

98








14 10 6





24 26 26 2,5
24 26 26 3,5
24 26 26 5
24 26 26 7,5

36 36 38 10
36 36 38 15
48 48 410 20
48 48  25

2 2 2






















47













110150


6070


















 







 









 48


 





 
5–10





30–40




10–
20

10–20




















0
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



















 



5–7

10


350



0

0
0
0



0
0
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
0

0
0
0
2


0

 
0
10–200
1020

0


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10–20
10–200
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
0


0

0


0

20
0




一



1
2
31–2
4
5


二












1
2
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
1
2








1
Drums
2
3

 
‘




1
2Tack Coat
3
4
5Mix Segregation
6
7
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

11



Earth

Dams











Roguni
335Nurek
300







1990


















 54


12

Seepage


30




Piping



Hydraulic Gradient





SloughingDownstreem Face



Shear Failure0





Free surface0




0

13







0



Teton1976


6
700


2000

0






55
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Experiment Station
0




0


0
Water

contentDry Density


0






Soluble SaltsPore Water


0


Eroding Water
Head Water
0


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    
   
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





1959
     

      


 1978     
      

19811982   


  1979    
  


1261982

    

 1361987      

  
       

 
   









 1957    




1975  




 1979  







1987   




  151987     
 


 

 
 

   
 







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











112004
3132004




 
 

1
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Arbil Park Substation Design

Elictrical Eng. Kayhan Zrar Ghafoor

The Present Day Electrical Power System is a/c Electric Power
Generated, Transmitted & distributed in form of alternating current.
Suitable apparatus called substation accomplishes this process. For

example, generation voltage at the power station is (11kv or 6.6kv) is
stepped up to high voltage (say 220 kv or 132 kv) for transmission of

electric power, similarly near the consumers localities, the voltage
have to be stepped down to utilization level as demonstrated in typical

block diagram.

Civil and electrical work in substation
the modern substation in the complex structure as it requires numerous items

of equipment and allied service
Form the civil and electrical survey of the area to choose the site. The ideal

site for the substation is naturally the center of gravity of the electrical load but
in practice the cost availability of land, access for heavy vehicles, consideration
of plan installation and handling future expansion of the substation are equally,
if not more important. Also leveling, surfacing, and enclosing land are usually
expensive. After the site has been selected and land acquired the work divided
primarily into two groups VIZ.

Civil works and electrical works
A) the civil works comprise of:

1)Buildings              *. Residential
 *. Nonresidential, for example office, Stores, Repairs,

Control room.. etc
2. Design and construction of foundation and transformer plinth.
3. Cable trenches.
4. Fencing around switch yard.
5. Water supply
6. Drainage and sewage.
7. Roads and paths.
8. Aboriculture.
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B)The electrical works comprises of:
1) choice of busbar arrangement, preparation of key diagram indicates the

proposed busbar arrangement and relative position of the various equipment
while the layout drawing show the:

i) physical position of each equipment.
ii) Distance between various equipment.
iii) Phase segregation distance.
iv) Phase to ground segregation distance (Horizontal).
v) Phase to ground segregation distance (vertical).

2) Selection of isolators.
3) Selection of instrument transformer.
4) Selection of CB.
5) Selection lighting arrestor.
6) Selection of power transformer.
7) Selection of protective relaying schemes control and relay boards.
8) Selection of voltage regulation equipment.
9) Protection against lighting strokes.
10) Provision of facilities such as:

i) Earthing.
ii) Cabling.
iii) Oil handling System.
iv) Illumination System.
v) Compressed air System.
vi) Crane facilities.
vii) Fire protection Facilities.
viii) Communication facilities.
ix) A.C auxiliary supply.
x) D.C auxiliary supply.
xi) Interlocks.

C.T And V.T Parameters

3-1:   132 Switchgear : As demonstrated Schematically in S.H.D detail one
a. Object: 132 kv overhead line bays
b. C.T core 1 relay numerical line distance protection
c. C.T data:

- Ratio: N=1200-600/5 A
- Class: C1=5P
- Accuracy limit factor: ALF=20
- Burden VA=30

***
a. Object: 132 kv overhead line bays
b. C.T core 2 duty numerical O/C & E/F protection
c. C.T data:
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- Ratio: N=1200-600/5 A
- Class: C1=5P
- Accuracy limit factor: ALF=10
- Burden VA=30

***
a. Object: 132 kv overhead line bays
b. C.T core 3 duty Metering
c. C.T data:

- Ratio: N=1200-600/5 A
- Class: C1=1MS
- Burden VA=30

***
a. Object: 132 kv overhead line bays
b. C.T core 4 duty High impedance differential relay for BB
protection or high stability circulating current relay for BB ptn
c. C.T data:

- Ratio: N=2000/5 A
- Class: C1=X

***
a. Object: 132 kv overhead line bays
b. C.T core 5 Duty High impedance differential relay for BB
protection or high stability circulating current relay for BB ptn
c. C.T data:

- Ratio: N=2000/5 A
- Class: C1=X

***
*** ***

a. Object: 132/33/11 kv transformer bay
b. C.T core 1 duty Transformer differential protection
c. C.T data:

- Ratio: N=300-150/5 A
- Class: C1=5P
- Accuracy limit factor: ALF=20
- Burden VA=30

***
a. Object: 132 kv transformer bay
b. C.T core 2 duty Numerical O/C & E/F protection
c. C.T data:

- Ratio: N=300-150/5 A
- Class: C1=5P
- Accuracy limit factor: ALF=10
- Burden VA=30
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***
a. Object: 132 kv transformer bay
b. C.T core 3 duty metering
c. C.T data:

- Ratio: N=300-150/5 A
- Class: C1=1MS
- Burden VA=30

***
a. Object: 132 kv transformer bay
b. C.T core 4 duty High impedance differential relay for BB
protection or high stability circulating current relay for BB ptn

c. C.T data:
- Ratio: N=2000/5 A
- Class: C1=X

***
a. Object: 132 kv transformer bay
b. C.T core 5 duty High impedance differential relay for BB
protection or high stability circulating current relay for BB ptn

c. C.T data:
- Ratio: N=2000/5 A
- Class: C1=X

***
*** ***

a. Object: 132/33/11 kv transformer bay
b. C.T. core duty Restricted earth fault protection C.T.S on
132 kv Neutral
c. C.T data:

- Ratio: N=300/5 A
- Class: C1=X

***

a. Object: 132 kv Bus coupler bay
b. C.T. (-T11) core 1 Duty Numerical O/C Protection
c. C.T data:

- Ratio: N=1600-800/5 A
- Class: C1=5P
-Accuracy limit factor: ALF=10
- Burden AV=30

***
a. Object: 132 kv Bus coupler bays
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b. C.T (-T11) core 2 Duty High impedance differential relay for BB
protection or high stability circulating current relay for BB ptn
c. C.T data:

- Ratio: N=2000/5 A
- Class: C1=X

***
a. Object: 132 kv Bus coupler bay
b. C.T. (-T21) core 1 Duty High impedance differential relay for BB
protection or high stability circulating current relay for BB ptn
c. C.T data:

- Ratio: N=1600-800/5 A
- Class: C1=1MS
-Burden: VA=30

***
a. Object: 132 kv Bus coupler bay
b. C.T. (-T21) core 2 Duty High impedance differential relay for BB
protection or high stability circulating current relay for BB ptn
c. C.T data:

- Ratio: N=2000/5 A
-Class: C1=X

***
*** ***

a. Object: 132 kv Overhead line bank Capacitor
Voltage Transformer
b. C.V.T core 1 duty: Metering
c. C.T data:

- Ratio: N=132/?3, 0.11/?3, 0.11/?3
- Class C1=1-3P
-Burden: VA=75

***
a. Object: 132 kv Overhead line bank Capacitor
Voltage Transformer
b. C.V.T core 2 duty: Protection
c. V.T data:

- Ratio: N=132/?3, 0.11/?3, 0.11/?3
- Class C1=3P
-Burden: VA=35

***
a. Object: 132 kv Voltage Transformer bay
b. C.V.T core duty Protection
c. V.T data:

- Ratio: N=132/?3, 0.11/?3
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- Class C1=1-3P
-Burden: VA=75

* * *
* * * *

3-2: 33KV Switchgear: Detail two

***
a. Object: 33 kv overhead line bays
b. C.T core 1 duty Numerical O/C Protection
c. C.T data:

- Ratio: N=600-300/5 A
- Class C1=5P10
-Burden: VA=20

***
a. Object: 33 kv overhead line bays
b. C.T core 2 duty Metering
c. C.T data:

- Ratio: N=600-300/5 A
- Class C1=1M5
-Burden: VA=20

***
a. Object: 132/33/11 kv Transformer bay C.T.S on
33 kv Side
b. C.T core 1 duty Transformer Differential Protection
c. C.T data:

- Ratio: N=1200-600/5 A
- Class C1=5P20
-Burden: VA=30

***
a. Object: 33 kv transformer bay
b. C.T core 2 duty Numerical O/C Protection
c. C.T data:

- Ratio: N=1200-600/5 A
- Class C1=5P10
-Burden: VA=20

***
a. Object: 33 kv Transformer bay C.T.S on 33 kv
side
b. C.T core 3 duty Metering
c. C.T data:

- Ratio: N=1200-600/5 A
- Class C1=1M5
-Burden: VA=20
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***
a. Object: 132/33/11 kv Transformer bay C.T.S on
33 kv Neutral
b. C.T core 1 duty Transformer differential protection
c. C.T data:

- Ratio: N=300/5 A
- Class C1=X

***
a. Object: 33 kv Bus Section
b. C.T core 1 duty Numerical O/C Protection
c. C.T data:

- Ratio: N=1600/5 A
- Class C1=5P10
-Burden: VA=20

***
a. Object: 33 kv Bus Section
b. C.T core 2 duty Metering
c. C.T data:

- Ratio: N=1600/5 A
- Class C1=1M5
-Burden: VA=20

***
a. Object: 33 kv Voltage transformer bay
b. V.T core duty Metering and protection
c. V.T data:

- Ratio: N=33/?3,0.11/?3,0.11/?3 kv
- Class C1=C1-1
-Burden: VA=75

***
a. Object: 33 kv Capacitor Bank Unit
b. V.T core duty Numerical O/C Balance Protection
c. V.T data:

- Ratio: N=1200-600/5
- Class C1=5P10
-Burden: VA=30

* * *
* * * *

3-3:   11KV Switchgear: Detail three

a. Object: 11 kv overhead line bays
b. C.T core 1 duty Numerical O/C Protection
c. C.T data:

- Ratio: N=300-150/5 A
- Class C1=5P10
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-Burden:VA=20
***

a. Object: 11 kv overhead line bays
b. C.T core 2 duty Metering
c. C.T data:

- Ratio: N=300-150/5 A
- Class C1=1M5
-Burden: VA=20

***
a. Object: 132/33/11 kv Transformer bay C.TS on
11 kv Side
b. C.T core 1 duty Transformer  Differential Protection
c. C.T data:

- Ratio: N=2500-1250/5 A
- Class C1=5P20
-Burden: VA=30

***
a. Object: 11 kv overhead line bay
b. C.T core 2 duty Numerical O/C Protection
c. C.T data:

- Ratio: N=2500-1250/5 A
- Class C1=5P10
-Burden: VA=20

***
a. Object: 33 kv Transformer bay C.T.S on 33 kv
side
b. C.T core 3 duty Metering
c. C.T data:

- Ratio: N=2500-1250/5 A
- Class C1=1M5
-Burden: VA=20

***
* * *

a. Object: 11 kv Bus Section
b. C.T core 1 duty Numerical O/C Protection
c. C.T data:

- Ratio: N=2500/5 A
- Class C1=5P10
-Burden: VA=20

***
a. Object: 11 kv Bus section
b. C.T core 2 duty Metering
c. C.T data:

- Ratio: N=2500/5 A
- Class C1=1M5
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-Burden: VA=20
***

a. Object: 11 kv Auxiliary Transformer bay
b. C.T core 2 duty Numerical O/C and E/F protection
c. C.T data:

- Ratio: N=60-30/5 A
- Class C1=5P
-Burden: VA=20

***
a. Object: 11 kv Auxiliary Transformer bay
b. V.T core 1 duty Metering
c. V.T data:

- Ratio: N=11/?3,0.11/?3,0.11/?3kv
- Class C1=C1-1
-Burden: VA=75

***
a. Object: 11 kv Voltage Transformer bay
b. V.T core 2 duty Metering
c. V.T data:

- Ratio: N=1200-600/5
- Class C1=3P
-Burden: VA=30

***

References:
1) Modern Power System Analysis. Bay Turan.
2) A Course in electrical Power. Bay Gupta.Soni.
3) Also some information are received in the

ARBIL park Substation.
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